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Lösung: 
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Da 3=3 gilt der Induktionsanfang. 
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Es ist noch zu zeigen: ( )( ) ( )( ) ( )(11 2 7 1 3 2 2 9
6 6
n nn n n n n n )+

+ + + + + = + +  

 

( )( ) ( )( ) ( )( ) ( ) ( )( )

( ) ( )( ) 2 2

1 11 2 7 1 3 2 2 9 2 7 3 2 2 9
6 6 6 6

2 7 6 18 2 2 9 2 13 18 2 13 18

n n nn n n n n n n n n n

n n n n n n n n n

+
+ + + + + = + + ⇔ + + + = + +

+ + + = + + ⇔ + + = + +

⇔

 
Was zu beweisen war. 
 


